
ESTRUCTURA : GRUPO FRENO TRASERO (TAMBOR)	
 

GRUPO FRENO TRASERO (TAMBOR) 

  

 

Rating: Not Rated Yet 
Price: 
Variant price modifier: 

Base price with tax: 

Price with discount: 

Salesprice with discount: 

Sales price: 

Sales price without tax: 

Discount: 

Tax amount: 

Ask a question about this product  

 

Description 

Ref. Título Código

1 KIT ZAPATA FRENO TRASERO 10-65120

2 TIRACADENA DERECHO 10-61410

3 EJE RUEDA TRASERA 21.5CM LARGO 10-64311

4 BUJE DERECHO RUEDA TRASERA 10-64312

5 TAPA MAZA RUEDA TRASERA 10-65130

6 INDICADOR RUEDA TRASERA 10-65115

                        1 / 3

https://cprrepuestos.com.ar/images/stories/virtuemart/product/grupo farol trasero4.png


ESTRUCTURA : GRUPO FRENO TRASERO (TAMBOR)	
 

Ref. Título Código

7 LEVA FRENO TRASERO 10-65113

8 ARANDELA M8 10-GB93-87-3

9 LEVA INTERNA DE FRENO TRASERO 10-65112

10 RESORTE ZAPATA DE FRENO 10-65111

11 GUARDAPOLVO 10-65117

12 TORNILLO TOPE 10-GB97.1-85-5

13 ARANDELA M8 10-65116

14 TUERCA M6 10-GB97.1-85-6

19 SEGURO 2,0 X 15 10-GB91-86

20 TORNILLO M6 X 35 10-GB5783-86-2

21 TAPA MAZA TRASERA ARMADA 10-900-8

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

                        2 / 3



ESTRUCTURA : GRUPO FRENO TRASERO (TAMBOR)	
 

 

 

 

Powered by TCPDF (www.tcpdf.org)

                        3 / 3

http://www.tcpdf.org

